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The February Professional World Championship Chess Ranking has Kasparov still well ahead in 1st place (2786) while India’s top player Anand Viswanathan (2728) leapfrogs World Champion Vladimir Karmik (2701) to 2nd place following the win by Anand in the Corus event (Netherlands) & the disappointing performance of Kramnik.  Other top places: 4 Veselin Topalov (Bulgaria), 5 Judit Polgar (Hungary), 6 Peter Leko (Hungary), 7 Peter Svidler (Russia), 8 Michael Adams (UK), 9 Alexander Morozevich (Russia), 10= Alexei Shirov (Spain) & Ruslan Ponamariov (Ukraine). 

I’ll keep the spotlight on Indian players with news that Surya Ganguly, who shares a family name with the Indian cricket captain, came 2nd in January Gibralter tournament (94 players), losing only to winner Nigel Short (UK).

The most famous Indian player before Anand was Mir Sultan Khan (1905-66).  Employed as a servant to a nawab who encouraged him to compete in tournaments, Sultan Khan became All-India champion in 1928. He travelled with the nawab to England (1929-33) & became British champion (1929, 1932, 1933).  He competed successfully in international events, including 3rd at Hastings 1930/31 behind Euwe & Capablanca whom he defeated.  He also played matches against leading players (Tartakower 6.5-5.5 & Flohr 2.5-3.5) as well as playing top board for England in Olympiads (11.5/17 in 1931).  After his return to India he played little serious chess.  Below is an adjourned position with Sultan Khan Black against Bogoljubow who twice played World Championship matches against Alekhine. Bogolujbow  (White) agreed a draw.  Can you work out how White could have won (5 moves)? 
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SOULTANBEIFF   -   SULTAN  KHAN




    Liege 1930:  Queens Indian Defence



 1       d4   
 Nf6  


 2       Nf3  
b6



 3       c4  
 e6  


 4       g3  
Bb7



 5       Bg2  
 Bb4+  


 6       Bd2  
Bxd2+



 7       Nbxd2(a)0-0  


 8       0-0   
c5



 9       Qc2  
 Nc6  


10      dxc  
bxc



11      e4   
 Qc7  


12      Rfe1  
d6(b)



13      Rac1       h6  


14      a3   
Nd7



15      Qc3  
 a5  


16      Nh4  
g5(c)



17      Qe3  
 Qd8(d) 

18      Nhf3  
Qe7



19      h3  
 Rab8  


20      b3  
Ba8 




21      Nb1
 Nde5  


22      a4   
Nxf3+ 



23      Bxf3  
 Nd4  


24      Bd1(e)   f5(f)



25      exf  
 Rxf5  


26      Rc3  
Rbf8



27      Rf1  
 Rf3!(g)    

28      Bxf3  
Rxf3



          White resigns(h)

a)  White has more chances of the initiative with 7 Qxd2.

b)  A cursory glance at the pawn configuration might suggest that White with his 2 pawn islands & strong centre pawns on e4 & c4 might be better.  However this is not the case; Black’s only weakness, the backward pawn on the half-open d file is easily defended, he has possibilities of the minority attack through ...a5/a4 leading to the weakening of White’s b pawn (whether or not White plays a4), d4 may become an outpost for a Black knight & ...f5 could provide attacking chances for the Black rooks.

c)  Played to prevent a king-side foray starting with f4.

d)  It would be foolish to play 17...gxh4 in view of 18 Qxh6 followed by Re3.

e)  In having to defend the b pawn White’s bishop hands over decisive control of the long diagonal to Black.

f)  After forcing White into ungainly defence on the queenside Black now opens a second front on the opposite wing.

g)  Preventing White from blocking the long diagonal by f3.

h)  The queen/bishop mating battery after 29..Qb7 is decisive.

SOLUTION:  1 Rd5+!! Nxd5 (1...Ka6  2 Bc8+) 2 Be2+, d3  3 Bxd3+, Ka5  4 Ra7+, Ra6  5 Rxa6++

